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Linear Programming - ix`pil oepkzdnbe
.xevii zepekn ibeq 3 lr zleaiw yi dxagl:mixven ibeq 3 zxviin dxagd'b xven xevii onf 'a xven xevii onf '` xven xevii onf (reayl zery) onf dpekn3 2 8 200 `0 3 4 100 a1 0 2 50 b:`ed xven lkl d
igil geexdgeex xveng"y 20 '` xveng"y 6 'a xveng"y 8 'b xven.reaya ze
igi 20k xken 'b xven.ilniqwn didi geexdy i
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a oneqz dxhnd 'wpet
Max z = 20x1 + 6x2 + 8x3

Subject to : x3 ≤ 20

Machine 1 8x1 + 2x2 + 3x3 ≤ 200

Machine 2 4x1 + 3x2 + 0x3 ≤ 100

Machine 3 2x1 + 0x2 + 1x3 ≤ 50

xi ∈ Z, xi ≥ 0

xji dxevdn dhlgd ipzyna ynzydl dvxp okle ze`eeynd 3 lka riten x1y `id dnbe
a zeiziirad:if` .xvend z` je dpeknd xtqn z` onqn i xy`k i, j = 1, 2, 3 xy`k
Max z = 20 (x11 + x12 + x13) + 6 (x21 + x22) + 8 (x31 + x33)

Subject to : x31 + x32 + x33 ≤ 20

Machine 1 8x11 + 2x21 + 3x31 ≤ 200

Machine 2 4x12 + 3x22 ≤ 100

Machine 3 2x13 + x33 ≤ 50

xji ∈ Z, xji ≥ 0:zkaeqn zwie
nd diirad ik ,dirad ly (wiie
n zegtd) ipey`xd geqipl xefgp
Max z = 20x1 + 6x2 + 8x3

Subject to : x3 ≤ 20

Machine 1 8x1 + 2x2 + 3x3 ≤ 200

Machine 2 4x1 + 3x2 + 0x3 ≤ 100

Machine 3 2x1 + 0x2 + 1x3 ≤ 50

xi ∈ Z, xi ≥ 0.z = 500 f`e x1 = 25 if` (d
igil daxd ikd `ian `ed ik) x1 z` wx xviip ik gipp:jk xviip m` ,la`
x1 = 24

x2 = 1

x3 = 2
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.aeh xzei dfe z = 502 lawp if`:`ed simplexd zervn`a lawpy iteqd oexztd
x1 = 13.75

x2 = 15

x3 = 20 dlaez ziirayi zepg lka .zeiepg 3l miwtqn md mze` ,mixven ly mieqn 'qn yi 
g` lka .zyexg iza ipy yi.zepg lkl gelynl zepey zeielr yi zyexg zia lkle ,mixvenl znieqn dyix


dxhn.zilnipin zelra zepg lkl gelyl yi ze
igi dnk hilgdl yidhlgd ipzyn.i = 1, 2e j = 1, 2, 3 xy`k xij :dhlgd ixven 6 epl yi
min z = 5x11 + 4x12 + 7x13 + 3x21 + 5x22 + 6x23

s.t :

x11 + x12 + x13 ≤ 80

x21 + x22 + x23 ≤ 20

x11 + x21 = 30

x12 + x22 = 20

x13 + x23 = 40

xij ≥ 0
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